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But does not the sprinkling make it permissible - DN3 7POT RO

Overview

¥"7 maintains that if someone stole 2°7p, for which the owner is responsible, and
he slaughtered them, he is liable for 'm '7 *m%wn. The X713 asked but it is a 7w nWw
TIRT APRY (presuming that it was vnwl outside the 777¥) and "7 maintains that a
7O W XY 7K PRY 70 nw, so why should he be ' "7 21, The Xn) gave three
answers, two of them answered (according to 7371 M) that he was vmw the animal in
the 771, however either the blood spilled (72X 72 prx° ' [according to “»°7 27]), or
he was 2°7vy2 awh Xow vmw (1°27). The third answer (¥°p2 w™) is that he was vmw
7Im2 P O9va. The Xna continues that 1y9X " asked (on °"); ‘is then the mwnw
7°nn, when in fact it is the 7P which is 7°n» the 1279 (to be eaten)’, so at the time
of 7Y nY it was a MR APXRY v nw. Our MBOIN qualifies the question of &' and
disagrees with *"w15, here and elsewhere.

= 17999 D91 TOVIVD NY PINYT INNIY
The question (of X"1) is on the one (7°2X 712 prix° 1) who established the case where

the blood spilled -
= 9WONA P LNYIT 1D 1IIIY DYDY NIV 9INT INNDY INT

For according to the one (7°27) who said that it was slaughtered 3717%w2 awh Xbw,

since it was v and the blood was sprinkled properly -
= 2399 DI PINY MIYN U5 DYV XY NN NN NVINY

It is a 7R" 7w nw without the reason of, ‘whatever is awaiting to be sprinkled,
is considered as if it was sprinkled’ —

In summation; N1®0N maintains that the VAW of a 127p (even if it was 2°9va awh ROW vnwl) is
considered a 7K1 7w N if there was w22 77 NP7, even though that at the time of the Aunw
(before the 1ip°71), the animal was still 710K.

Moo responds to an anticipated a difficulty:
= 913999 Y¥3 (0w 2,9 97 poINY 132 NN NN 79927 2) JY 4N

And even though that in the 12 nXY MR P9, the X712 wanted to say -
= NN 9N PRY NVINY DIYTP NVINY DY

! Since the blood spilled there was no nn» 771 and it is a 7”IX7 APRY 7VNY, since this 1277 is MOK.
2 This reason of 121 727 73 is necessary only according to the one who maintains that 277 75w3, so there never was
an actual 77p>1, nevertheless we say 191 7217 23 and it is a 737 7w nw. However, if it was vnwi (even 0°9v2 ow? Row)
and the 07 was P it is a 787 7L NW, even if we would not maintain 131 72w 73.

1

TosfosInEnglish.com



TP RPN "7 'oIN 2w p"a .70l

That every 2%w7p NLOAW is a MR TIRW W, since at this point it is still Mox until the

77777, nevertheless -
= NN NN NVINY 910D OTN PITT RPN ¥NIYN 3XIPDNI NIN 99N NIPUNI NNMP N

At the conclusion we do not maintain this, rather at the conclusion it seems that

if at the end the blood was sprinkled properly, it is a 779IR9 QAW -
= 7111 90101 M1 132 HNY IMINA 13 SPINY 1y 1PN NYW 29 Yy 9N

Even though it was a situation where it was not awaiting to be sprinkled, for
instance in a case of ‘him and his son’, where it was lacking the proper time —

nooIn explains why by 112 NXY 11X, the 27 is not P> Tmw:
- DY MINNY DIPNA KN 5T DI PYNAY %395 13591IN N1

For we do not say, according to @'’ that "»7 P1912 P19 72w 22, unless where

there is a mMx» to sprinkle the blood (but not by 12 nX) MR, where there certainly is no 71%7) -
= (oW },XP 97 M) $02303N MNINN P92 9INTS

As the X773 answered in 295227 nIMIRT P9 -
= ANTAY NINM NINM NN N8N ONT Y19 NMTAY NTIMY N9 Nndwa

Granted that the 7217X 799 is awaiting to be redeemed, meaning that if one found

a nicer 7717X 779, it is a MM to redeem the original 719 and offer the nicer one -
- M1 MM PN NI 231 NIN

However, these 1230n1w niman, there is no mx» to redeem them -
- ‘,71‘1?5 TIYT 279122 PIYNIY 239 9INRT 99X N¥TN2A 99N (3,73 97) ”"9Nn YN 7992 MN*901)

And in nnv13 noon in MPn awR P15 the X3 states explicitly, ‘you can say, when

does @'~ maintains that it is *»7 P71, only by something which is P171% 7279, but
not otherwise, where there is no obligation or intent to be P17 (like by 112 NXY 1K) —

3 X,%9 1P9; see later in this maoin (footnote # 10).
* This means that it is a X1 7w nw, if the o7 was ultimately P73, even without resorting to the rule of 121 72w: 2.
5> maon needs to prove that if 077 P it is a A AN without resorting to the rule of "1 TmWwn 93. Therefore, Moo
cites a case where there is no 21 797 9.
6 There is a prohibition to be bMw the mother (\MX!) and its child (112 NXY), on the same day, whether it is 2°w7p or
9.
" If one was first bmw the mother and then he was vmw the child for a 1277 on the same day, the second 727 is invalid,
since it is Ja1 0, its time had not come yet (we needed to wait until the next day). In this case the 27 is not P12 W,
since the 1277 is invalid; nevertheless, it the 07 was P13, the 70 NW is a MW 7L NY (and presumably it is 797982 INN).
8 w"1 maintains that there is no P72 nxmw if the food is X372 MOX. However, by a 727X 779 since it can be redeemed
(see shortly) we say *»7 *1793 M7 T2 25 and it is P22 NRAW Dapn (after it was vnw1). The X3 asked why do we
not say the same regarding M that became 2130 that they too should be 17318 nXk» I Xnwn since they also could have
been redeemed (before they were put into a n7w *23). The s'k7n3 answer follows.
° Therefore, we do not say 7211 23, and certainly by 112 NX 1MX where initially it was forbidden to offer it, we do not
say 72w 93, and nevertheless if it was Pl it is a IRY VMW,
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Moo explains now from where we know that if 277 P13 it is a 7K 7VNW:
= N3N 29 9INRP 291 NI 9N NIN 10099902 NDIHN NN 25

And this is how the texts read, ‘rather, said X239, this is what X117 21 stated -
- yya »nYn XY 07 P YT 1195 997 19597 1205W19a 1193 11133 HINY N MPN PPN

The mp5» for transgressing the X7 of 113 NXY 1NN, is not applicable by 2°w7p [what
is the reason], for since that as long as the 27 has not been sprinkled, the meat

is not permissible, therefore -
= YPY NDY ARIND NYNIY KD 14990 NNIND XMHN VINY RPT NITIYA

At the time when he slaughters the second animal, it is a doubtful warning, and

a doubtful warning, is not considered a warning, so therefore, there is no nips» -
- 9YD2Y P11 XD NN DINT AVINY 12 ON ¥PY ANINN NIY MINT INDY ¥HYN

This indicates that according to the one who maintains that 7»w P50 nNXIN7
78207, that he will receive mpo» (if the o7 will eventually be po11), so therefore it
is a X9 mu nw when the 07 was eventually sprinkled.

NN cites >"w19 and his X073 there in (X,X9) Pw:
=959 XD DOWTPA 133 NN IMNX MPYN PR ONT 50NN W9 DIVIHPI)

And >'"'w1 explained there that the text reads, ‘there is no np%» for 122 NRY IR

by asw7p’, but no more, there is no mention of P50 NXIN7; the reason there is no MpPon for

112 IR MK by 2w -
= NN 1IN NINRY NVINYT NIN JIT 90INNT DIVN NIN P90 NNINN NNT OIVN KD

Is not because it is a Pp® NRINT (as MdOIN explained it), but rather because the
second animal was a 27T 99, SO it is a TR TIRW W0 —

n1voIN asks on >"wNs:
=932 NN IR DIVN IVHIYY TION) 11T 901NN 2PWN N PNy 19%324Y Y

And the >''1 has a difficulty with >''w9p; if it is considered ‘lacking time’ and it
is forbidden to slaughter it because of 112 PXY IMIN -

10°x,%0 7911, See footnote # 3.
''The 770 writes (in 173,25 [17%X] X7P°1) 70X D12 WARA K 132 DX MR 7 W M. The prohibition is if they were unwa.
12 The n"2n n1ai amends this to read, 11°37 XuPw SR% 2°w7P2 (instead of 11727 2°WIpR2).
13 Therefore, at that point it is not yet a 7mX 7w°nw until they are P17 the 7.
14 At the time of the v W, when we warn him not to be v the second animal, we are not certain whether the 07 will
be P11, which would make it a 7% nwnw, and he will transgress the W2 and receive mp», or whether the o7 will not
be P13, s0 it is not a ;18 70 N, and therefore he will not be 721 the XY of wrmen XY (since it is not a 7R ALY so WY
o nw 7). This is called a P90 nXNiT, that we do not know at the time of the warning (not to be vmw), whether he will
certainly be 12w the > if he does not heed the warning and is vrmw. It is possible that he will be vmw, and nevertheless
not be 121 the W~ if 077 P73 X, since it will be a TV W AW 8?1 781 AR qunw. See “Thinking it over’.
15 nRAN7 "7 K,XD PO
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= 1605947Ha X113 192 NN IMIN NINNT 9INT 1929 YONYHN XY DIVN NPV NIN 19 ON
If indeed it is so, he should be 72> for transgressing the X% of X% 112 NXY NINX
ywnwn, since the ;7710 teaches that 112 XY IR is applicable by 2sw7p -
— NN 75 1721051 H99%) TN Hya NN PRY NVINYIA NIN TYIN ON)
For it is impossible to transgress this 17, unless it is done with a 7918 PRW UMW,
perforce you must say that the 210277 n9°3 is so —
= 18530 SUINYN NINT 2792 DYDY 21NNNY NMININ NVINYI NINY
That the 787 7°RY 70 AW is like a 198" wsnw, to be liable for 112 DX 1NIX, similar
to Y suImw -
= 199N NINRY NVINY 2PUN NIINN 27191957 2) by 9N
That even though regarding other issues, 7111 "0V is considered a 71RW wnIW
AN, nevertheless -
= 21992 INY ININD 2133 91 209NN 927 NNINN NDINN PRY 1923 2911 R NIN SVINY PIvd
Regarding yin svnw he is liable, since the prohibition is not on account of
anything else; the same applies to 112 nXY NN —

In summation; the proof that if 7w23772 277 P11 the 7Y NW of a 127p is a 7RI AWV MY is from the fact
that the reason there is no mp» for 12 NXY MR by MI27p is because it is a Po0 NN, however if
we maintain X807 7nw there will be MpP5» when the 07 is P13, since that makes it a 7187 7V AW to
be liable for 112 nXY 1MIX. We cannot say like " that there is no MpY» by 2°WTpP2 112 DRI MK,
because it is a 11 7017, for since there is a WY for 112 NRY MR by 2°w7p, this shows that regarding
112 DR IR, even a MR OPRY 0w, nevertheless nwnw nnw; the same 2" as by 70 uInw,
therefore the concept of 71X 7RW 7L MW is not applicable to 112 NX1 MK (and to ¥ “0ITw).2

n»doIN asks:
- 239393 Y219 SVIYNY (3,007 97) DINATT XINA P93 7298 INNINY 9INN ON)

16 See &,y 111, where the Xn™12 states, ,7°IN2 2051, 727 70 TV IR AW W MW", 912 72N ,P0TRM AN 112 DRI IMK? P "N

PWITPML AW 112 DR IMX 5y 7% IR 0P WAwN R 112 DRIMIR W R Y. The "3 2w W W 109 is discussing M127p.

17 The 230271 N1 is that although it is written "3 YW@ X 112 NXY IMR, which would indicate a 7187 70w, and when

one is 112 NXY MR MW it is not a 7R 7w NWY, nevertheless he is liable for Yonwn X7 112 nX1 1K, See “Thinking it over’.

18 The n"an Nman amends this to read, 2"yX7 ¥I7 (instead of 3"V¥XY yn).

19 If one would (for instance steal a 1277 and be vmMw it 77Y? 7R, even though he will not be liable for 'm ', since it

is a K7 TrRY v nw, nevertheless he will be liable (and receive mpon [or n13]) for Y *vinw even though (regarding

"M 7) it is a 70 "RY o nw. The only way that the WY of v 0w (and its punishment) can happen is if it is a v nw

77 ArRw. This is the 210127 17°13 by v v, and the same applies to 112 NRY INK.

20 This means like the A7°201 7233 MO°X which requires a 'm "7 "m>wn.

2! There is the same 210271 N7°T (see footnote # 17).

22 Additionally, even though that one transgresses the X% of ¥ "0 and 132 NXY IMK respectively, even though it is

a 7RI IPRY 7vnw, nevertheless if this type of v nw was utilized in another situation (for instance "M "7 *m%wn), it is

a IR APRY 7vnw, and is not a valid 7vnw, so they will not be liable (for '™ '7).

23 yar refers to a male animal which preformed bestiality, and a ¥271 refers to a female animal which incurred
4
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And if you will say; but why was it necessary in the last P92 of 2’72y noon, to

exclude a y291y yay -
=919 SN NN INY #2rNan NIN YVINY DIVN 29NN NY1

That one is not liable for w7 svynw if it was performed with a ¥217 or ¥272, since it

is written, ‘and to the opening of »:7IX etc. he did not bring it -
= 269N 910N NNNM NN 510NN PRY NVINYT 7YY PIodn

Let us derive that there is no 717 *0I7W by Y2711 Y217, since it is a 7R 7KW quInw

on account of another prohibition;27 not the prohibition of v >vINw, but rather the
prohibition of offering a ¥2711 ¥217 as a 1279 —

MooIN rejects a possible answer:
- Pynynw 2399 X9 B899 7908K 193997 99 P
And it is difficult to say that the »1o5 (of 21X nino X)) is necessary only according

to the 13127 (who maintain UMY 7AW 7RI 7KXW 70 NY), but not according to w''
(wWho maintains 70N 72w K? 77K APRY 0TW) —

mooIn offers another possible answer:
= 301579 NAL MV 129D NNPLYAT ) DY GNRT NINY DINY9 PPAY Y

And there are those who wanted to answer that even though generally
(whenever we require 70 nw) we derive from 3577 173® MWy that a 7X1 VMW is

bestiality. We derive from the 2105 (in 2,X X7"1) where it says 72727 11 to exclude offering a 1279 from a ¥217 or a ¥ya71.

24 The 7od (in 7-3 P> [*NR] Xp™) regarding yIn 0w, reads, X2 Tyin 298 105 98 7931 19 0AY? WK PRI 1030 TR UOR

1299 2707 %27, We derive that only animals which could have been brought as a 1279 by the v MR rino, is there

an issue of Y11 "0INW; however, an animal which could not be brought as a 127p (like a ¥2711 ¥y211 [see footnote # 22]),

there is no Mo°X of Y "vINWY.

25 They cannot be eaten because they are a Y2711 v211 (see 2,711 PUITR).

26 mpoIn means to exclude that we do not mean that it is a 71X7 IPRW TWAW, since it is Y7 *0W; this cannot be, as

mooIN just explained that there is a "1 that the v nw of ¥ *vITY (and 12 XY INIX) is considered a TR TV NW

regarding the transgression of those 0°110°X; however here there is the additional Mok of ¥y2711 yan.

27 mpoin seems to be asking, just as regarding 17 *0IMw and 132 DX 1R, even though regarding their own respective

O MNMO°K, one is 27, even though it is a 77 AR Avnw (for that is the 5"7°13), nevertheless regarding other issues

(like 'm "7 >m7wn) if it was done through v *vINMW or 2", it would be considered a 7"X7 7rXY 7w, and he would

not be liable for 'm '7 (see footnote # 22), similarly by n"w or 2™K, if there would be another type of X7 71Rw 7V Nw

(like 1"17), he should not be 2»n for 1" or 2™R.

28 Since the 1127 maintain 0 IW AW TR 71RY 00w, the fact that it is ¥2711 ¥217, and it is a MR AR 70nw, would

not prevent one from being 7121 on Y1 *0INW. Therefore, we need the P109 of 131 N X,

2 See the m71wn there (beginning on 2,2°p) which states, "R7 PRW 93 7 19w 2109 2RI WD PINA 127P0w 191 Y271 ¥an

I Y2 MR W' ,TI0D PIN 1WA 1O PR C9Ya 12 PYIaR TR oY PA e chya by Pavn R T 1own 2105 X3

TWYN X922 270 P2 PRI 2ova o P1ap. We see that w3 argues in the case of 1 9v3, but he does not argue in the

case of ¥2711 ¥217; indicating that he agrees to the p"n that the 75 of ¥2711 ¥217 is from the 109, but not because it is

a 7R 7R avnw. Therefore, this answer is a prT.

30 See 10,31 (Ppn) NWRI2 concerning the meal 701 was preparing for his brothers, which presumably was a 7"X 0 nw.
5

TosfosInEnglish.com



TP RPN "7 'oIN 2w p"a .70l

required, however -
= 3191195991 1229557 NN NI2D 1291 \IN YVINYA

Regarding v suinw itself it is logical that we derive it from 77 swIWw, which is a
IR APRY 0N —

Mmoo rejects this answer:
= ANINA PYNY 229 9951 INNN 319192 POIN 3Z2N9290 VMY 19 ONXT PN 139299 AN PPN)

And this answer does not appear to the >''9, to be correct, for if indeed it is so (that
D1 11°09°),%* why does @' permit to derive benefit from one who is b a
779Y9Y P9I animal in the 71¥; he states this -

= (0w 3,09 97PN DTN 210222 (owy x,m 91 PYITPT 72 PH2 9102
In the end of the second P22 of "7 NOd» and in 277 %192 P79, and the reason it is

IRIT2 A, S -
— MR NYRY NVINY NNHNT OIVNI

Because it is a 79IR9 7RW WA, for it is a 19°0; the question on this ruling is -
— 3N NINT PRY NVINY NITYA POIN NVINY DIIYIT NI 999

Let him derive it from 7771¥2 1517 nwnw itself, which is always a 78w mume
SOINT -
— RIPIINT NP2 IVNYIY POIN PYNY 229 120pT
since @''" maintains 77T MWW P9I is RNMIINTR OKX —
$9NN 369909 Na NN NV 1992 991 192ONT DIVN KON

31 mpon in his question argues that if one is VMW a 1277 ¥2111 ¥ outside the 777v he should not be 27, since it is a
TR A1XRY Tvnw. The answer given here is that since every Y7 "0nw is a 77X 71°XW 70w and nevertheless one is
211 for v "wInw with a 7R APRW VAW, it is not logical that by a ¥2711 ¥217 N nw one should be 715 because it is a
TMIRT APRY 70NW, since the whole M0°R of Y *vINw is only by 7K1 nRw nwnw. These yn? 2810 1PIw W, may agree
with the premise in footnote # 22 that 1"w and 2" when they combine with other situations (like '71 '7 *»%wn), are
considered 71 7rRY 70nw, however they disagree with footnote # 27, which maintains that other 2>2105 (like 1"17)
would prevent the 0°110°X of 1"w and 2", since they are a different kind of 7R7 71RW 70 nw.
32 An animal which is a 79>0 is X372 M.
33 191 which was slaughtered in the 771¥ is %372 770X, However, since it was a 190 NL MW, it is a TR AR 707w,
therefore it is not considered 771vY2 YRR 7°7I0.
3 We have just concluded in cases where the basic M0°X is by M1 nrxw mwnw (like pIn *vIw), we do not require a
TR qunw, for any ancillary muenw (like being vmw a yma ¥2711 ¥217), to transgress that MON.
35 Every a11ya 121 nunw is by definition a 7787 71°Xw 7wnw and nevertheless it is MOR, so following the logic of the
'vanh oo P v (see footnote # 31), we do not require that the nunw of the 75> should be a 78 v NW (since
this 719°70 was 7Y vnw1 (just like by ¥2711 ¥217 of Y7 °vINW), so why should it be X172 AN, since we do not require
a X1 T nw by any v nw associated with 79y P (just as they maintain that we do not need a 787 v nw by n'"w
and 2", even if it is another kind of 7"X7 71°RW 70NW.
3% Even though regarding 771v2 121 we do not require a 7% 70 nw, but regarding the 79°70 MoX we do require a
TIRT "YW, and since a 719V is not a XA 7w nw, therefore it is not considered 77Tv2 YA 19910, The same should
apply by 711 0w of ¥2711 ¥217 that ¥2711 ¥217 NN is not a MK Y NW, and therefore one cannot be Y VINY 72w
by ya7n yan.
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Rather this proves that nevertheless we require that there should not be another
disqualifier.

Summary
The nvnw of a 1277 is a 7R 7w WY if the o7 was 1. The v nw of yIn *vINw (and

112 XY INIX) even though they are considered like a 7K1 7vNW (regarding 1"w and
2"IX), nevertheless regarding other issues (like 'm '7) it is considered a 7IRW VMW
IR

Thinking it over,
How are we to understand that on one hand 5010 argues that since the 189 of MK

112 X1 applies to 2°w7p (even though it is basically a 7%7 71°Rw 7w nw) that means
that there is a 210577 n7°13 that one is liable for a 77X 7°Xw 7w nw,>” and on the other
hand, according to the X077 7AW X? PO0 NXRINA 7"7, one would never receive MpPYn
by ow7p2 2R, since it is a P90 NXNT;*® but what happened with the 3"71a?!

37 See footnote # 17.
38 See footnote # 14.
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